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34 36.2
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35
6.1.1(2)
50 3
6.1.1(2)
50 3
6.1.1(2)
50 6
83 6 yc 1.0 yc 1.0
83 8 d/1.15 d/1.15
83 12 k, 1.0 k, 1.0
Ng +N - 398 + 75,380 Ny +N . - 398+75,380
87 1 4 ’ =024 10 —L2=11 ——__"""=026 10
9N 315,555 9N 315,555
+N ; Ny +N -
87 2 — P =10 3646+ 19887 611 10 g—2"=11 - 3646 +19887 15 10
N, 149,815 N’ 149,815
M , - 263,012 M - 263,012
6 —4=10" —=—2——=049 10 —4=11 ——=053 10
87 v T 541,828 SV - 541,828
. M -
87 7 giﬂzl_o' M:O_% 10 g—L =11 356,661 =072 10
M - 543,220 M - 943,220
M . 53,459 M . 53,459
7 5 —d —10" 2074 10 —L=11 = =081 10
8 9 M, 72,681 9 M 72,681
M , 27,212
87 4 g, M, :1_0'ﬁ:0_39 1.0 g—%=11 =043 10
M 70,351 M 70,351
Vv, -V, 16,512 - 7,435 V, -V , 16,512 - 7,435
2 Yd " Vnd =9 9" =2 ™ -048 1.0 4 —hd =] 1" ———— _ —==053 10
% 9 Vg 18,900 9 Vg 18,900




V, -V, 11,974 - 5,820

V, -V . 11,974 - 5,820 Vam Vhd g ¢ =036 10
0 1 0~ Thd =10 =033 10 9 - - -
9V 18,900 Via 18,900
V, -V, -
o1 5 g.Vd-Vhd —10° 16,512 - 7,4352030 10 ——hd =77 wzo_gg 1.0
L Vwcd . 30, 211 . . Vwcd 30,211
V, -V, , - . .
o1 6 g, d _"hd_-10 11,974 5'820:0_20 1.0 giM: 1 w:az 10
Vwcd 30 1 211 Vwcd 30 1 211
o 6.2.1
4
o 6.2.2
4
6.2.3 > 5 2 5
96 2.69 2.05 79 79
PC 79 79 PC 2.69 2.05
106 1 7.1 7.1.1
( P3 )
112 713 119 111
119 7.18(4) J (L2 HYL2x W J (L2 HY12x W
138 1 7.2.4 7.2.4
145 17 1/20 1/20
157 7.2.13
160 7.2.16 P1 (  Ne307) P1 (  Ne3i6)
162 7.2.14
164 7221 P1 (  Ne307) P1 (  Ne3il)
7.2.24 Vyd Vyd
171 g Vyd Vyd
216 10
224 6.1.1 S Fq Fq S Fy Fq
225 6.1.2 S Fg Fq S Fqy Fq
227 18 M  PL B/0.13 L+0.25) P M P L B/130 L+0.25)
227 6.1.1 10+ L 15 /12 10+ L 25 /12
239 6.2.2 S Fg Fq S Fqy Fq
6.2.3
240 3
2 @)
6.2.3
240 4 C
PC
284 7.1.19 327.70 mm 372.70 mm
288 7.1.25
288 7.1.25
289 7.1.27
289 7.1.27 4 2
307 7
307 7.1.28 kh 0.696 kh 0.696




